HOLY MARY’S SCHOOL, BANUR, CBSE Affiliated (ESTD: 1999),
Holidays Homework (Session: 2025-2026)
Class-I1X

Instructions for the assignment completion:

1. For all subjects: use 2-line sheets only. Use separate sheets for separate subjects.

2. Mention the student's name, class, section, roll no., and subject name on every subject assignment's first page.
3. Subject enrichment activity could be done on either A4 sheet or half a chart paper (except lab practical work).

ENGLISH

Quick Revision Test 1

Reading -22 Questions

Writing — 4 Questions

Grammar -12 Questions

Quick Revision Test 2

Reading -24 Questions

Writing — 4 Questions

Grammar -12 Questions

Total number of questions 78

(Do this work on ruled sheets. Do this assignment from Bravia Book.)

Subject Enrichment Activity: English
Create a Vocabulary Chart
Instructions:

1. Pick 20 new or difficult words from any chapter or poem in your NCERT English textbook.

2. Write the word, its meaning, synonyms/antonyms, and frame a sentence from each word on half a chart paper or
A4 sheet.

3. Decorate the chart with colours and illustrations to make it eye-catching.

MATHEMATICS

1.Point (-3, 5) lies in the
a) third quadrant b) second quadrant ¢) first quadrant d) fourth quadrant

2.Signs of abscissa and ordinate of any given point in the second quadrant are respectively

a)+, — b)—, — c)—, + d) +, +

3.Abscissa of all the given points on the x-axis is

a)l b) 0 c)2 d) any number
5

4.Given a rational number 9 This rational number can also be known a
a) a natural number b) a whole number c) a fraction d) a real number

5 The rational number 0.3 can also be written a

3 1
a) 0.3 b) 10 ¢) 0.33 d) 3

6. If the decimal representation of a number is non-terminating, non-repeating then the number is
a) a natural number b) a rational number c¢) a whole number d) an irrational number

7. Simplify: (V5 + V2)2.
8. Express 1.8181... in the form p/q where p and q are integers and q # 0.
9. Represent V3 on the number line.



10.Represent V3.2 on the number line.

11.The sides of the triangle are 56 cm, 60 cm and 52 cm long. Find the area of the triangle.

12.Find the total cost of levelling the ground in the form of a triangle with sides of 16m, 12m and 20m at Rs. 4 per
sq. Meter

13. The sides of a given triangular field are 41m, 40m and 9m. Find the total number of flower beds that can be
prepared in the field if each flower bed needs 900cm? space.

14.1f x=a ,y=2 is a solution of linear equation 2x-3y+8=0 ,find the value of a.
15.Check which of the following are solutions of equations 2x-y=6 and which are not.
(1) (3,0) (i1)(0,6) (iii)(2,-2)

16.Find k if x=2k-1 and y=k is a solution of the equation 3x-5y-7=0

17.Simplify the following expressions:

(1) (11 =V11) (11 +~11)

(i) (5 +V7)(57)

18.In which quadrant or axis do the following points will lie?
('33 5)9 (270)3 (29 2)5 ('39'6)5(49'1)5

19.Three vertices of any rectangle ABCD are A(3, 1), B(—3, 1) and C(-3, 3). Plot these points on the graph paper
and find the coordinates of the fourth vertex D. Also, find the area of rectangle ABCD.

20. The perimeter of a given triangular ground is 420m, and its sides are in the ratio 6:7:8. Find the area of the
triangular ground.

21. Write 5 solutions of 3x+4y=7.

22. Find the possible coordinates of the Point

(1) which lies both on X and Y-axis.

(i1) whose ordinate is — 4 and lies on the Y-axis.
(111) whose abscissa is 5 and lies on the X-axis.
23.Write the answer to the following questions:

(1) What are the names of the lines that are drawn horizontally and vertically to represent the positions of every
Point in the Cartesian plane?

(i1) What are the names of the various components of the plane that these two lines form?
(ii1) Indicate the name of the intersection location of these two lines.

24 Find out five rational numbers between 1 and 2.

25.Find out five rational numbers between 3/5 and 4/5.

26.Show that 0.333.... can be expressed in the form of p/q where p and q are integers and q # 0.
27.Simplify each of the following expressions:

(i) (3+V3)(2+2)
(i) B3+V3)(3-V3)
(iii) (V5+42)2

(iv) (V5-V2)(V5+12)

28.There is a square park ABCD in the middle of Saket colony in Delhi. Four children Deepak, Ashok, Arjun and
Deepa went to play with their balls. The colour of the ball of Ashok, Deepak, Arjun and Deepa are red, blue,
yellow and green respectively.

All four children roll their ball from centre point O in the direction of XOY, X’0Y, X’OY’ and XOY”. Their
balls stopped as shown in the above image.

Answer the following questions:
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a) What are the coordinates of the ball of Ashok?

b) What are the coordinates of the ball of Deepa?
¢) What the line XOX" is called?

d) What the point O (0,0) is called?

e) What is the ordinate of the ball of Arjun?

Q29.Today is celebrated every year on 3 November the Sandwich Day which got its name from John Montagu in
the 18™ century on the occasional sandwich day a food manufacturing company decided to make a record by
making the biggest triangular sandwich suppose sides of sand which are 7 centimetre, 8 centimetre and 9
centimetre.

on the basis of the above information solved the following questions.
1.Find the perimeter of the triangle.

2.Find the area of sandwich.

3.Find the length of altitude to the largest side of the triangle.

Q30..Mrs.Rakhi lives in an undeveloped area where there is no facility or proper education but one thing is
available in that area that is network is available since she was very keen to take education so she decided to
complete her education through e-learning one day she was studying number system where she learned the rational
number irrational number and decimal number etc .On the basis of above information solved the following
questions.

1.Convert the rational number 2/15 into decimal number.

2.write one irrational number between 2.365 and 3.125

3.write 5 rational numbers between 2 and 3.



Subject enrichment activity

Exp 1. To construct a square root spiral that depicts the square roots of natural number

Exp 3. To verify the algebraic identity (x+y+2)> =x’+ y’+z°+2 xy+2 yz+2 zx

Exp 8. To verify that if a side of a triangle is produced the exterior angle so formed is equal to the sum of 2 interior
opposite angles using the method of paper cutting and pasting

Exp 18. To obtain the mirror images of given geometrical figure (a triangle )with respect to the X axis and the Y
axis on a graph paper.

Exp 20. To obtain formula for the area of a triangle given its base and height.

SCIENCE

Chemistry

Q1. Which of the following does not impact the rate of evaporation

a) Insoluble heavy impurities

b) Wind speed

c¢) Surface area

d) None of above

Q2. The phenomenon in which solid directly converted to gas is known as

a) Vapourisation

b) Solidification

¢) Sublimation

d) Condensation

Q3. Fill in the blanks and give suitable reason for your answer
1. With rise in temperature of matter, particles move .
2. With increase in temperature, kinetic energy of particles also

Q4.Why liquid is classified as fluid?
Q5. Why does solid ice floats on water?
Q6. Find density of handful of sand with a mass of 208g displacing a volume of 80 ml of water.
Q7. Convert following into Kelvin scale
)65 °C
b)300 °C
Q8. Name the physical process responsible for drying clothes. Why does the spreading the clothes increases the
rate of drying?
Q9. Is dry ice is same as normal ice? If no, then differentiate between dry ice and normal ice.
Q10. What are the necessary conditions to a substance to be classified as matter?

Physics
Q1. Which of the following is correct
a) Both speed and velocity are same
b) Speed is scalar and velocity is vector
¢) Speed is vector and velocity is scalar
d) None of above
Q2. A particle is moving in circular path of radius r. The displacement after half a circle would be:
a) zero
b) mr
¢) nr’
d) 2nr
Q3. The Displacement of a moving object in a given interval of time is zero. Would the distance travelled by
object is also zero? Justify your answer.
Q4. By giving example prove that rest and motion are relative terms.
Q5. Define retardation. How it is calculated? What are its units?
Q6. What is meant by uniform motion ?Give example of a body in uniform motion .



Q7. A biker rides700m north,300m east,400 m north,600m west,1200 m south,300 m east and finally 100m north .
a) Draw the path of motion of biker.
b) What distance he covered?
¢) What was his displacement?
Q8.What does the odometer of an automobile measures ? Which of the following is moving faster? Justify your
answer.
1 .A scooter moving with a speed of 300 meter per minute .
2. A car moving with speed of 36 kilometre per hour.
Q9. In a long distance race the athletes were Expected to take 4 rounds off the track such that line of finish was
same as the line of start. Suppose the length of track was 200 meters.
a) What is the total distance to be covered by athletes?
b) What is the displacement of athletes when they touch the finish line?
¢) Is the motion of the athletes uniform or non uniform?
d) Is the displacement of an athlete at the distance covered by him at the end of race are equal?
Q10.Check whether assertion and reason are true and reason is correct explanation of assertion.
Assertion :Speed can never be negative.
Reason :speed is a scalar quantity because it has magnitude only but no specified direction . Thus the speed
can be zero or positive.
Experiments:
1.Preparation of
a) A true solution of common salt, sugar and alum
b) A suspension of soil, chalk powder and fine sand in water.
¢) A colloidal solution of starch in water and egg albumin/milk in water and distinguish between these on the
basis of
a) Transparency
b) Filtration criterion
¢) Stability
2.Preparation of
a) A mixture
b) A compound
using iron filings and sulphur powder and distinguishing between these on the basis of basis of
Appearance ,i.e. homogeneity and heterogeneity
Behaviour towards a magnet
behaviour towards carbon disulphide as a solvent
Effect of heat

3. Preparation off stained temporary mounts of (a) onion peel, (b )human cheek cells and to record observations
and draw their labelled diagrams.

4. Determination off the melting point of ice and the boiling point of water.

5. Verification of the laws of reflection of sound.

Biology

CHAPTER- 1, Cell
A. Give reasons, why.
1. Raisins and dry apricots swell up when placed in a bowl containing water for
sometime.

2. Chromatin, chromatid and chromosomes are related to each other.

3. Lysosomes are known as ‘ scavengers of the cells’.

4. Plant cells possess large sized vacuole.

5. Roots of plants have mostly leucoplasts in them than chloroplasts.

B. Name the organelles which show the analogy written as under.

1. Transporting channels of the cells.
2. Digestive bag of the cell.
3. Storage sacs of the cells.




4
5
6
7

. Control room of the cell.
. Kitchen of the cell.
. Powerhouse of the cell. .
. Packing & dispatching unit of the cell.

C. Multiple choice questions.

1

. Select the odd one out

a. Membranes are made of organic molecules like proteins and lipids.

b

. Molecules soluble in organic solvents can easily pass through membranes.

c. Plasma membranes contain chitin sugar in plants.
d. Movement of water across a semipermeable membrane is affected by the amount of
substances dissolved in it.

2

. Cell organelles without a cell membrane are

a. Nucleus

b
c

. Chloroplasts
. Ribosomes

d. Golgi apparatus

3
a
b
c

[oN
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a
b
c
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a
b
c
a
b
C

6.

. The proteins essential for building the cell membrane are manufactured by
. Rough endoplasmic reticulum

. Plasma membrane

. Mitochondria

. Golgi apparatus

. Silver nitrate solution is used to study

. Endoplasmic reticulum

. Nucleus

. Golgi apparatus

d. Mitochondria
5.

Plasmolysis in a plant cell is defined as
. breakdown of plasma membrane in hypotonic medium
. Shrinkage of cytoplasm in hypertonic medium
Shrinking of nucleoplasm

d. None of them

Amoeba acquires its food through this process
. exocytosis
. endocytosis
. plasmolysis

d. Botha&b
7.

Cell arises from pre-existing cell was stated by
. Haeckel
. Virchow

Hooke

d. Schleiden

8.
a.

b
c

When you keep raisins in hypotonic solution, endosmosis occurs that continues till
cells are fully turgid

. cells burst

. two hours

d. You keep them in solution
9. The stain used to make temporary mount of human cheek cells

a

. Safranin

b. Methylene blue

C

. Xylene

d. Iodine

1
a

0. These contain their own DNA and ribosomes
. Mitochondria

b. Golgi apparatus



c. Plastids

da&c

D. Higher order Thinking Skills.

1. A person with swollen gums rinses his mouth with lukewarm salt water and swelling of his gums decreases. This
is because

a. The gums absorb the salt water solution.

b. The salt water solution lowers the temperature of the water in the gums.

c. The salt in the solution moves against the concentration gradient.

d. The water in the gums moves out due to high concentration of salt in the solution.

2. Ritika observed onion peel cells in the lab and could view the cell wall, cytoplasm and nucleus clearly. Suddenly
her friend spilled a few drops of salty water on the slide having onion peel cells. She observes some changes in the
cells after sometime

a. What changes would have been observed by Ritika?

b. Name the process that caused the changes in the cells.

c. Would there be similar changes observed ,if she had prepared a slide of cheek cells?

3. Look at the diagram carefully

a. Which part of the above diagram can carry the ‘hereditary material’?

b. Who discovered the nucleus for the first time?

c. Why is it called the © control centre’ of the cell ?

4. If you are provided with some vegetables to cook, you generally add salt into the vegetables during the cooking

process.

a. What happens to the vegetables after adding salt?

b. Which mechanism is responsible for the changes? Explain.

5. Why does the skin of your mother’s fingers shrink when she washes clothes for a long time?
a. What is responsible for these changes?

b. Explain the process in brief.

Subject Enrichment Activity: Science
The Fundamental Unit of Life Activity:

1. Draw a Plant Cell and an Animal Cell side by side on an A4 sheet or half a chart paper.

2. Label all major parts (nucleus, cell membrane, cytoplasm, cell wall, chloroplast, vacuole, etc.).

3. Write the function of at least 5 important cell parts in bullet points beside the drawings.

4. Use colours to differentiate between the two cell types and make it look attractive and presentable.

SOCIAL SCIENCE

Instructions: Do all the work on ruled sheers. Writing should be neat and clean.
Very short questions:

1.What does the term "democracy" mean?

a) Government by the wealthy elite

b) Government by the military

c¢) Government by the people

d) Government by a single ruler




2.Who was the leader of the Jacobin club during the Reign of Terror?
f) Maximilian Robespierre (b)Jean-Paul Marat
¢) Louis XVI  (d)Napoleon Bonaparte

3.The Great Indian desert is located in which state?

(a)Rajasthan (b) Gujarat (c) Punjab (d) Haryana
Assertion reason based questions:
(A) Both (A) and (R)are true and (R)is the correct explanation of (A).
(B) Both (A) and (R)are true but (R)is not the correct explanation of (A).
(C) (A) is correct but (R) is wrong.
(D) (A) is wrong but (R)is correct.

4. Assertion: There is basic constraint in raising farm production.

Reason: Land area under cultivation is practically fixed.
5. Assertion: China is not considered as a democratic nation.
Reason: Opposition parties and press are not free to criticise the government.
Correct the following statements and rewrite:
6. India has a bi-party system.
7.Democratic government depends on the wishes of the people who rule.

Fill in the blanks:

8.Napoleon was finally defeated at in 1815.

9.India shares it’s land boundary with in the north-west.

10.Continuous use of for tubewell irrigation has led to the depletion of the water-table.
Short questions:

11.What is subsistence crisis? Mention any two factors responsible for it.

12. Define- (a) Dictatorship (b) Democracy

13.Which is most common form of democracy? Why is this form of democracy is necessary?
14.What is the significance of India’s location.

15.Define- (a) fixed labour (b) working capital

16.Define the meaning and aim of production.

Long answer questions:

17.What are the drawbacks of Green Revolution in Indian agriculture .

18.What compelled Louis X VI to raise taxes in France?

19.Evaluate the role of Church in the French Revolution?

20. Why do we prefer democracy to any other form of the government?
21.What was the role of Jacobin in the French Revolution?

22 .Distinguish between a democracy and good democracy.

Very long type questions:

23.Expain the major arguments against the democracy.

24. Analyse the role of thinkers and philosophers in the French Revolution.
25. Why Zimbabwe cannot be called a democratic? Give reasons.
26.Describe the circumstances leading to the outbreak of revolutionary protest in France.
27.Why do we prefer democracy to any other form of democracy?
28.Describe the India ‘s size and location.

29.Discuss the causes of French Revolution of 17897

30.What are the difficulties that people face in non-democtic countries?

Subject Enrichment Activity—

Cultural heritage documentations create a project on local monuments ,folk art form or traditional practice.

Project should be visual plus written documentations.
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Subject Enrichment Activity
HiadT @sT 3R fageyor

Instructions:

1. fordr yfaey &Y #fd & vh Hiaar |

2. A @ A4 e 1 3T IE TR W Fe fordd|

3. fa @ dfged aR= AR Hiaar & g 4-5 arrdr & o)
4. ST &1 v AT Y 91 o T

Wishing vou all a joyful avd relaxing summer break—stay safe, have fum, and see you soow!



